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  INTERMEDIATE EXAMINATION – 2024 (ANNUAL) 
 

Model Set 
Economics (Elective) 

I.A.
Total No. of questions – 100 + 30 + 8 =138 

dqy iz'uksa dh la[;k & 100 $ 30 $ 8 ¾ 138 

Instructions for the candidates :- 

1- ijh{kkFkhZ OMR mÙkj&i=d ij viuk iz'u iqfLrdk Øekad ¼10 vadksa dk½ vo'; 

fy[ksaA 

Candidates must enter his/her Question Booklet Serial No. (of 10 

Digits) in the OMR Answer Sheet.  

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far as 

practicable. 

3- nkfguh vksj gkf'k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz'uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; 

fn;k x;k gSA 

15 minutes of extra time has been allotted for the candidates to read 

the questions carefully. 

5- ;g iz'u&iqfLrdk nks [k.Mksa esa gS %  ,oa  

Time :- 3 Hours 15 minutes 
le; % 3 ?kaVs 15 feuV 

Full Mark - 100 
iw.kkZad & 100 

Sub. Code - 326 
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This question booklet is divided into two sections : Section-A and 

Section-B. 

6- [k.M&v esa 100 oLrqfu"B iz'u gSa] ftuesa ls fdUgha 50 iz'uksa dk mÙkj nsuk 

vfuok;Z gSA 50 iz'uksa ls vf/kd dk mÙkj nsus ij izFke 50 dk gh ewY;kadu gksxkA 

izR;sd ds fy, 1 vad fu/kkZfjr gSA budk mÙkj nsus ds fy, miyC/k djk;s x, 

OMR mÙkj i=d esa fn, x, lgh fodYi dks uhys @ dkys ckWy isu ls izxk<+ 

djsaA fdlh Hkh izdkj ds âkbVuj @ rjy inkFkZ @ CysM @ uk[kwu vkfn dk 

OMR mÙkj i=d esa iz;ksx djuk euk gS] vU;Fkk ifj.kke vekU; gksxkA 

In Section-A, there are 100 objective type questions, out of which 

any 50 questions are to be answered. If more than 50 questions are 

answered, then only first 50 will be evaluated. Each question carries 

1 mark. For answering these darken the circle with blue / black ball 

pen against the correct option on the OMR Answer Sheet provided 

to you. Do not use Whitener / liquid / blade / nail etc on OMR Answer 

Sheet, otherwise the result will be treated invalid. 

7- [k.M&c esa 30 y?kq mÙkjh; iz'u gSa] izR;sd ds fy, 2 vad fu/kkZfjr gS] ftuesa ls 

fdUgha 15 iz'uksa dk mÙkj nsuk vfuok;Z gSA buds vfrfjDr bl [k.M esa 8 nh?kZ 

mÙkjh; iz'u fn, x, gSa] izR;sd iz'u ds fy, 5 vad fu/kkZfjr gS] ftuesa ls fdUgha 

4 iz'uksa dk mÙkj nsuk vfuok;Z gSA  

In Section-B, there are 30 Short answer type questions, each 

carrying 2 marks, out of which any 15 questions are to be answered. 
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Apart from these, there are 8 long answer type  questions, each 

carrying 5 marks, out of which any 4 questions are to be answered.  

8- fdlh izdkj ds bysDVªkWfud midj.k dk mi;ksx iw.kZr;k oftZr gSA 

Use of any type of electronic device is strictly prohibited.

 Section-A 

Objective Type Questions 

iz'u la[;k 1 ls 100 rd ds izR;sd iz'u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls dsoy ,d 

lgh gSA vius }kjk pqus x;s lgh fodYi dks OMR&mÙkj iqfLrdk ij fpfUgr djsaA fdUgha 50 

iz'uksa dk gh mÙkj nsaA        (50x1=50) 

Question Nos.- 1 to 100 have four options, out of which only one is correct. 

You have to mark, your selected option on the OMR- Sheet. Answer any 50 

questions.          (50x1=50) 

1-  lef"V dk D;k vFkZ gS \ 

 (A) cM+k     (B) NksVk 

 (C) lkekU;     (D) buesa dksbZ ugha 

 What does macro mean ? 

 (A) Big     (B) Small 

 (C) Medium    (D) None of these 

2- oS;fDrd vkfFkZd ,tsaV dkSu gS \ 

 (A) mRiknudrkZ    (B) miHkksDrk 
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 (C) etnwj     (D) buesa lHkh 

 Who is individual economic agent ?  

 (A) Producer    (B) Consumer 

 (C) Worker     (D) All of these 

3- vk/kqfud vFkZ'kkL= ds tud gS & 

 (A) ,Me fLeFk    (B) ek'kZy 

 (C) fo".kq xqIr    (D) veR;Z lsu 

 The father of modern economics is - 

 (A) Adam Smith    (B) Marshall 

 (C) Vishnu Gupt    (D) Amartya sen 

4- m|eh dk dk;Z D;k gksrk gS \ 

 (A) QeZ dk lapkyu    (B) m|e ls tqM+s tksf[ke ysuk 

(C) iw¡th dh iwfrZ djuk   (D) buesa lHkh 

 What is the work of an entrepreneur ? 

 (A) Management of firm   

 (B) To bear the risk associated with enterprise. 

(C) Supply of capital      

(D) All of these 

5- ftl nj ¼ewY;½ ij Je dk Ø;&foØ; gksrk gS] mls D;k dgrs gSa \ 

 (A) C;kt     (B) ykHk 

 (C) etnwjh     (D) yxku 
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 What is the rate (price) at which labour is bought and sold called ? 

 (A) Interest     (B) Profit 

 (C) Wages     (D) Rent 

6- lef"V vFkZ'kkL= esa vkfFkZd Hkwfedk vnk djus okys dkSu gSa \ 

 (A) jkT;     (B) oS|kfud fudk; tSls Hkkjrh; fjtoZ cSad 

 (C) oS;fDr fu.kZ;drkZ   (D) dsoy (A) vkSj (B) 

 Who performs economic role in macroeconomy ? 

 (A) State      

 (B) Statutory body like Reserve Bank of India 

 (C) Individual Decision maker    

 (D) Only (A) and (B) 

7- buesa dkSu iw¡thoknh vFkZO;oLFkk dk vfHky{k.k ugha gS \ 

 (A) lalk/kuksa dk futh LokfeRo  (B) cktkj vFkZO;oLFkk 

 (C) ;kstuk cukuk    (D) ykHk ds fy, mRiknu 

 Which of these is not a characteristics of capitalist economy ? 

 (A) Private Ownership   (B) Market economy 

 (C) Planning    (D) Production for profit 

8- buesa dkSu mRiknu dk dkjd gS \ 

 (A) ljdkj     (B) eqnzk 

 (C) dsUnzh; cSad    (D) Je 

 Which of these is a factor of production ? 
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 (A) Government    (B) Money 

 (C) Central Bank    (D) Labour 

9- buesa dkSu ikfjokfjd {ks=d dk dk;Z gS \ 

 (A) vk; vftZr djuk   (B) cpr djuk 

 (C) dj vnk djuk    (D) buesa ls lHkh  

 which of these is function of household sector ? 

 (A) To earn income   (B) To save 

 (C) To pay tax    (D) All of these 

10- lalk/ku laiUu vÝhdk vkSj ySfVu vesfjdk ds ns'kksa ds fo"k; esa D;k lgh gS \ 

 (A) ;s lcls laiUu gSa   (B) ;s lcls xjhc gSa 

 (C) ;s u laiUu gSa] u foiUu gSa  (D) ;s e/; vk; okys ns'k gSa 

 What is true about the resource rich African and Latin American 

 countries? 

 (A) They are most rich   (B) They are poorest 

 (C) They neither poor, nor rich (D) They are middle income countries 

11- mRiknu dk izokg dSls mRiUu gksrk gS \ 

 (A) lalk/ku izkIr djds   (B) lalk/ku dk mi;ksx djds 

 (C) O;kikfjd okrkoj.k cukdj  (D) buesa lHkh 

 How is flow of output created ? 

 (A) By acquiring resources   

 (B) By using resources 
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 (C) By creating business environment  

 (D) All of these 

12- vafre miHkksDrk }kjk Ø; dh tkus okyh oLrq D;k dgykrh gS \ 

 (A) miHkksx oLrq,¡    (B) iw¡thxr oLrq,¡ 

 (C) dPpk eky    (D) buesa dksbZ ugha 

 What are goods purchased by final consumer called ?  

 (A) Consumption goods  (B) Capital goods 

 (C) Raw material    (D) None of these 

13- buesa dkSu vafre miHkksx okyh miHkksDrk oLrq gS ftldk vkxs :ikarj.k ugha gks ldrk\ 

 (A) dikl     (B) /kkxk 

 (C) diM+k     (D) deht 

Which of these is end use consumer good which cannot be further 

transformed ? 

 (A) Cotton     (B) Thread 

 (C) Cloth     (D) Shirt 

14- iw¡thxr oLrqvksa ds mRiknu esa foLrkj ls] miHkksDrk oLrqvksa ds mRiknu esa D;k ifjorZu 

 gksxk\ 

 (A) òf) gksxh     (B) deh gksxh 

 (C) dksbZ ifjorZu ugha gksxk   (D) buesa dksbZ ugha 

 What would happen to output of consumer goods due to enpansion of 

 output of capital goods ? 
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 (A) It would increase   (B) It would decrease 

 (C) There would be no change (D) None of these 

15- ldy ?kjsyw mRikn (GDP) dh x.kuk ds fy, O;; fof/k dk dkSu lehdj.k lgh gS \ 

 (A) GDP=C+S+G+X    (B) GDP=C+I+G+X 

 (C) GDP=C+I+G+M    (D) GDP=C+I+G+X-M 

For calculation of Gross Domestic Product (GDP) by expenditure method, 

which of the equations is correct ? 

 (A) GDP=C+S+G+X    (B) GDP=C+I+G+X 

 (C) GDP=C+I+G+M    (D) GDP=C+I+G+X-M 

16- ;fn ljdkj u gks vkSj fons'kh O;kikj u gks vFkkZr G=T=M=X=O rks lehdj.k (I-S)+(G-

 T)=M-X ds fy, dkSu dFku lgh gS \  

 (A) I Ξ S     (B) I Ξ M 

 (C) I Ξ G     (D) I Ξ T 

 If there is no foreign treade and government that is G=T=M=X=O then for 

 equation (I-S)+(G-T)=M-X which statement is correct ? 

 (A) I Ξ S     (B) I Ξ M 

 (C) I Ξ G     (D) I Ξ T  

17- ldy ?kjsyw mRikn ds ewY;kadu esa etnwjh] C;kt] ykHk ,o yxku dks fdl fof/k }kjk 

 tksM+k tkrk gS \ 

 (A) O;; fof/k     (B) mRiknu fof/k 

 (C) vk; fof/k    (D) buesa dksbZ ugha 
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 In valuation of gross domestic product, by which method are wages, 

interest, profit and rent added ?  

 (A) Expenditure Method  (B) Production Method 

 (C) Income Method   (D) None of these 

18- vk; ds orqZy izokg esa] leLr mRikfnr vafre oLrqvksa ,oa lsokvksa ij fd;k x;k O;; 

 fdlds cjkcj gksrk gS \ 

 (A) dkjd vnk;xh ds     

 (B) leLr mRikfnr vafre oLrqvksa ,oa lsokvksa ds ewY; ds 

 (C) ykHk ds     

 (D) (A) ,oa (B) nksuksa 

 In circular flow of income, what is expenditure made on all final goods 

and services equal to ? 

 (A) Factor Payments         (B) Value of all final goods and services 

 (C) Profit           (D) Only (A) and (B) 

19- ¼QeZ ds mRiknu dk ewY; & QeZ }kjk iz;qDr e/;oŸkhZ oLrqvksa dk ewY;½ fdlds cjkcj 

gksrk gS \ 

 (A) QeZ dk ewY;of/kZr   (B) fuoy ewY;of/kZr 

 (C) ewY;gzkl     (D) buesa dksbZ ugha 

 What is (the value of firms output - value of intermediate goods) equal 

to? 

 (A) Value added of firm   (B) Net Value added 
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 (C) Depreciation    (D) None of these 

20- ;fn ,d czsM dk ewY; 50 #i;s gSa ftlesa 25 #0 ewY; dk xsgw¡ vkxr ds :i esa mi;ksx 

 fd;k x;k gS] rks csdj dk czsM ds mRiknu esa fuoy ;ksxnku fdrus #i;s gS \ 

 (A) #0 25     (B) #0 75 

 (C) #0 50     (D) #0 100 

 If the price of bread is Rs. 50 in which wheat worth Rs. 25 has been used 

 as input, then what is the net contribution of baker in production of 

 bread? 

 (A) Rs. 25     (B) Rs. 75 

 (C) Rs. 50     (D) Rs. 100 

21- ldy ?kjsyw mRikn = ? + ewY;gzkl 

 (A) ldy ?kjsyw mRikn   (B) fuoy ?kjsyw mRikn 

 (C) fuoy ewY;of/kZr    (D) buesa dksbZ ugha 

 Gross Domestic Product = ? + Depreciation 

 (A) Gross Domestic Product  (B) Net Domestic Product 

 (C) Net Value Added   (D) None of these 

22- 2023 ds ewY; lwpdkad ds fy, pkyw o"kZ dkSu gksxk \ 

 (A) 2020     (B) 2021 

 (C) 2022     (D) 2023 

 For preparation of Price Index of 2023, what would be the current year ? 
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(A) 2020     (B) 2021 

 (C) 2022     (D) 2023 

23- Fkksd ewY; lwpdkad esa fdl oLrq ds ewY; dks 'kkfey fd;k tkrk gS \ 

 (A) miHkksDrk oLrq,¡    (B) [kqnjk cktkj esa fcdus okyh oLrq,¡ 

 (C) Fkksd cktkj esa fcdus okyh oLrq,¡ (D) buesa dksbZ ugha 

 Prices of which goods are included in Wholesale Price Index ? 

 (A) Consumer goods    

 (B) Goods sold in Retail market 

 (C) Goods sold in whole sale market  

 (D) None of these  

24- ?kjsyw lhek ds varxZr lf̀tr lHkh vafre oLrq ,oa lsokvksa ds ewY; dk ;ksx D;k 

 dgykrk gS \ 

 (A) fuoy ?kjsyw mRikn   (B) ldy jk"Vªh; mRikn 

 (C) fuoy jk"Vªh; mRikn   (D) ldy ?kjsyw mRikn 

 What is the aggregate of prices of all final goods and services produced 

 within domestic boundaries called ? 

 (A) Net Domestic Producat  (B) Gross National Product 

 (C) Net National Product  (D) Gross Domestic Product 

25- ekSfnzd ldy ?kjsyw mRikn ,oa okLrfod ldy ?kjsyw mRikn dk vuqikr D;k dgykrk 

 gS \ 

 (A) eqnzk LQhfr    (B) ldy ?kjsyw mRikn voLQhfrd 
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 (C) miHkksDrk dher lwpdkad  (D) buesa dksbZ ugha 

 What is the ratio of nominal gross domestic product and real gross 

domestic product called ? 

 (A) Inflation     (B) Gross Domestic Product Deflator 

 (C) Consumer Price Index  (D) None of these 

26- ;fn oS;fDrd vk; esa oS;fDrd dj ,oa xSj&dj vnk;xh ¼tSls vk;dj½ dks ?kVk nsrs gSa 

rks gesa D;k izkIr gksxk \ 

 (A) th- ,l- Vh-    (B) oS;fDrd izk;ksT; vk; 

 (C) fuoy jk"Vªh; mRikn   (D) buesa dksbZ ugha 

 What do we get when we deduct personal tax and non-tax payments (like 

 income tax) from personal income ? 

 (A) G.S.T.     (B) Personal Disposable Income 

 (C) Net National Product  (D) None of these 

27- ;fn fdlh vFkZO;oLFkk esa oLrqvksa dh dher nksxquh gks tkrh gS vkSj mRiknu fLFkj jgrk 

 gS rks okLrfod vk; esa D;k ifjorZu gksxk \ 

 (A) nksxquk     (B) pkSxquk 

 (C) dksbZ ifjorZu ugha   (D) buesa dksbZ ugha 

 If in an economy the prices of goods double and output remains constant 

 then what would be the change in real income ? 

 (A) Double     (B) Four times 

 (C) No change    (D) None of these 
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28- ;fn fdlh ns'k dk o"kZ 2020 esa ldy ?kjsyw mRikn 1400 djksM+ Fkk tks o"kZ 2023 esa 

 c<+dj 1950 djksM+ gks x;k rks ldy ?kjsyw mRikn voLQhfrd D;k gksxk\ 

 (A) 100     (B) 130 

 (C) 139-29 ¼yxHkx½    (D) buesa ls dksbZ ugha 

 If for a country the gross domestic product was 1400 crores in 2020 

which increased to 1950 crore in 2023 then what would be the gross 

domestic product deflator ? 

 (A) 100     (B) 130 

 (C) 139.29 (approx)   (D) None of these 

29- ;fn ekSfnzd ldy jk"Vªh; mRikn Y gks] vkSj okLrfod ldy jk"Vªh; mRikn y gks rks 

 ldy jk"Vªh; mRikn voLQhfrd D;k gksxk \ 

 (A) ௒௬  𝑋 100     (B) ௬௒  𝑋 100  
 (C) ௬ା௒ଶ 𝑋 100    (D) buesa dksbZ ugha 

If Y is the Nominal Gross National Product and y is the Real Gross 

National Product then what would be Gross National Product Deflator ? 

 (A) ௒௬  𝑋 100     (B) ௬௒  𝑋 100 

 (C) ௬ା௒ଶ 𝑋 100    (D) None of these 

30- miHkksDrk ewY; lwpdkad esa dSls ewY; 'kkfey fd, tkrs gSa \ 

 (A) [kqnjk ewY;    (B) Fkksd ewY; 

 (C) mRiknd ewY;    (D) buesa dksbZ ugha 
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In consumer prices index which prices are included ? 

(A) Retail Prices 

(B) Wholesale Prices 

(C) Producer Prices 

(D) None of these 

31- eqnzk ds ek/;e ds fcuk vkfFkZd fofue; D;k dgykrk gS \ 

 (A) ekSfnzd fofue;     (B) oLrq fofue; 

 (C) lkSnk djuk    (D) vnyk&cnyh 

 What is economic exchange without money as medium of exchange 

 called ? 

 (A) Monetary exchange  (B) Barter  

 (C) Bargain     (D) Swap 

32- ysu&nsu ds mÌs'; ls eqnzk dh ek¡x fdlij fuHkZj djrh gS \ 

 (A) vk; ij     (B) vkSlr ewY; Lrj ij 

 (C) C;kt nj ij    (D) buesa dsoy (A) ,oa (B)

 On what does the demand for money for transaction purpose depend ? 

 (A) Income     (B) Average price level 

 (C) Rate of interest   (D) only (A) and (B) 

33- lÍk ds fy, eqnzk dh ek¡x fdl C;kt nj ij lokZf/kd gksrh gS \ 

 (A) U;wure C;kt nj rmin ij   (B) lokZf/kd C;kt nj rmax ij 

 (C) rmax - rmin ds varj ij    (D) buesa dksbZ ugha 
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 At which rate of interest the speculative demand for money is highest ? 

 (A) At minimum rate or interest rmin  

 (B) At highest rate of interest rmax 

 (C) At difference of rmax - rmin  

 (D) None of these 

34- M1 + Mkd?kj cpr cSadksa esa cpr tek,¡] fdldh ifjHkk"kk gS \  

 (A) M1     (B) M2 

 (C) M3     (D) M4 

  M1 + savings deposit of Post Office Saving Bank, what is this definition 

of ? 

 (A) M1     (B) M2 

 (C) M3     (D) M4 

35- fdl tek dh ifjiDork dh vof/k fuf'pr gksrh gS \ 

 (A) ek¡x tek      (B) vof/k tek 

 (C) cpr tek    (D) buesa dksbZ ugha 

 Of which deposits the period/time of maturity is fixed ? 

 (A) Demand Deposits   (B) Time Deposits 

 (C) Savings Deposits   (D) None of these  

36- fjtoZ cSad vkWQ bafM;k ds ekSfnzd iwfrZ dh ifjHkk"kk esa dkSu lcls rjy gS \ 

 (A) M4     (B) M3 

 (C) M2     (D) M1 
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 In the definition of supply of money of Reserve Bank of India which is 

most liquid ? 

 (A) M4     (B) M3 

 (C) M2     (D) M1 

37- fdlh ns'k ds ekSfnzd izkf/kdj.k dh laiw.kZ ns;rk dks D;k dgrs gSa \ 

 (A) ekSfnzd vk/kkj    (B) mPp 'kfDr'kkyh eqnzk 

 (C) dqy eqnzk iwfrZ    (D) dsoy (A) ,oa (B) 

 What is the total liability of a monetary authority of a country called ? 

 (A) Monetary Base   (B) High Powered Money 

 (C) Total Money supply  (D) Only (A) and (B) 

38- vfrfjDr miHkksx vkSj vfrfjDr vk; dk vuqikr D;k dgykrk gS \ 

 (A) vkSlr miHkksx izo`fŸk   (B) vfrfjDr miHkksx izo`fŸk 

 (C) lhekar miHkksx izo`fr   (D) buesa dksbZ ugha 

 What is ratio of additional consumption and additional income called ? 

 (A) Average Propensity to consume   

 (B) Additional Propensity to consume 

 (C) Marginal Propensity to consume 

 (D) None of these 

39- miHkksx Qyu C=C+ cY esa C ds fo"k; esa D;k lgh gS \ 

 (A) C > 0      

 (B) C dks fLFkj ekuk tkrk gS 
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 (C) ;g thou;kiu ds fy, fuf'pr miHkksx gS    

 (D) buesa lHkh 

 In Consumption function C=C+ cY what is true about C ? 

 (A) C > 0      

 (B) C is considered constant 

 (C) It is definite consumption for subsistence     

 (D) All of these 

40- fuos'k dks fLFkjkad I= I D;ksa ekuk tkrk gS \ 

 (A) D;ksafd ;g cfgtkZr dkjd gS 

 (B) ;g vFkZO;oLFkk ds Lok;Ÿk fuos'k dks iznf'kZr djrk gS     

 (C) ;g ldy ?kjsyw mRikn esa ifjorZu ij ugha fuHkZj djrk gS 

 (D) buesa lHkh 

 Why is investment considered a constant I= I ? 

(A) Because it is exogenous factor 

(B) It shows autonomous investment of the economy 

(C) It does not depend upon changes in gross domestic product 

(D) All of these 

41- ;fn lkoZtfud _.k Hkfo"; esa fuxZr dh of̀) ij udkjkRed izHkko Mkyrk gS rks bls 

D;k dgsaxs \ 

 (A)  laifŸk dh cckZnh   (B) cks> 

 (C) uqdlku     (D) buesa dksbZ ugha 
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If public debt negatively affects the increase in future output then what 

would it be  called ? 

 (A) Wastage of asset   (B) Burden 

 (C) Loss     (D) None of these 

42- f'k{kk] LokLF;] fu/kZurk mUewyu dk;ZØeksa dks jksdus ls vk; ij D;k izHkko iM+sxk \ 

 (A) ldkjkRed    (B) izfrdwy 

 (C) vLi"V izHkko    (D) buesa lHkh 

 What will be the effect of stopping programmes related to education, 

 health and poverty alleviation ? 

 (A) Positive     (B) Adverse 

 (C) Unclear effect   (D) All of these 

43- buesa dkSu lkoZtfud oLrq gS \ 

 (A) LoPN ok;q    (B) yksd f'k{kk 

 (C) jk"Vªh; lqj{kk    (D) buesa lHkh 

 Which of these is public good ? 

 (A) Clean air    (B) Public education 

 (C) National defence   (D) All of these 

44- eanh ds nkSjku dY;k.kxr vnk;xh ls D;k /kkfjr djus esa enn feyrh gS \ 

 (A) fuos'k     (B) miHkksx 

 (C) fu;kZr     (D) buesa dksbZ ugha 

 During depression what does welfare payment help in holding ? 
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 (A) Investment    (B) Consumption 

 (C) Export     (D) None of these 

45- ;fn lhekar miHkksx izo`fŸk c= 0.75 gks rks ljdkj varj.k xq.kd dk eku D;k gksxk \ 

 (A) 4       (B) 3 

 (C) 2      (D) 1  

 If the marginal propensity to consume is c= 0.75 then what would be the 

 value of government transfer multiplier ? 

 (A) 4       (B) 3 

 (C) 2      (D) 1  

46- mRikn ds fons'kh O;kikj esa] O;kikj /kkVk D;k gksxk \ 

 (A) fu;kZr & vk;kr < 0   (B) fu;kZr & vk;kr > 0 

 (C) fu;kZr & vk;kr = 0   (D) buesa dksbZ ugha 

 In foreign trade of products, what would be trade deficit ? 

 (A) Export - Import < 0   (B) Export - Import > 0 

(C) Export - Import = 0   (D) None of the above 

47- [kqyh vFkZO;oLFkk ds fy, larqyu dh 'krZ D;k gS \ 

 (A) Y=C+I+G+X-M   (B) Y=C+I+G 

 (C) Y=C+I+G+NX   (D) dsoy (A) ,oa (C) 

 What is the condition for equilibrium of open economy ? 

 (A) Y=C+I+G+X-M   (B) Y=C+I+G 

 (C) Y=C+I+G+NX   (D) Only (A) And (C) 
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48- fdl fons'kh fofue; nj O;oLFkk esa dsUnzh; cSad gLr{ksi djrk gS \ 

 (A) LoPN frjrh    (B) izfrcaf/kr frjrh 

 (C) uE; fofue; nj    (D) buesa dksbZ ugha 

 In which foreign exchange rate system the central bank makes 

intervention ? 

 (A) Clean float    (B) Restricted float 

 (C) Floating exchange rate  (D) None of these  

49- buesa ls dkSu fofue; nj dks ugha n'kkZrk gS \ 

 (A) Rs. 0.56 = 1Y    (B) Rs. 82.95 = 1$ 

 (C) 1.T K = Rs. 0.76   (D) Rs. 50 = 1 Kg vkyw 

 Which of these does not show exchange rate ?  

 (A) Rs. 0.56 = 1Y    (B) Rs. 82.95 = 1$ 

 (C) 1.T K = Rs. 0.76   (D) Rs. 50 = 1 Kg potatoes  

50- uE; fofue; nj dk fu/kkZj.k fdlls gksrk gS \ 

 (A) fons'kh eqnzk dh ek¡x ls   (B) fons'kh eqnzk dh iwfrZ ls  

 (C) fons'kh dher Lrj ls   (D) dsoy (A) ,oa (B) 

 How is flexible exchange rate determined ? 

 (A) By demand for foreign currency (B) By supply of foreign currency 

 (C) Foreign price level   (D) Only (A) and (B)  

51- buesa ls dkSu oLrqvksa dh Js.kh esa ugha vkrk gS \ 

 (A) [kk| inkFkZ     (B) oL= 

 (C) eksckby     (D) fpfdRlk 
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 Which of the following is not included in the category of goods ? 

 (A) Food articles    (B) Clothes 

 (C)  Mobile     (D) Medical treatment  

52- ^vPNh f'k{kk pkfg, rks foykflrkvksa dk R;kx djuk iM+sxkA* ;g dFku fdldk mnkgj.k 

 gS \ 

 (A) lalk/kuksa ds cpr dk   (B) lalk/kuksa ds viO;; dk  

 (C) le>nkjh dk     (D) volj ykxr dk  

 'If one wants good education then luxuries would have to be given up' 

 what is the statement an example of ? 

 (A) Saving resources   (B) Wastage of resources 

 (C) Wisdom    (D) Opportunity cost  

53- buesa dkSu vFkZO;oLFkk dh dsUnzh; leL;k ugha gS \ 

 (A) fdu oLrqvksa dk mRiknu fd;k tk, \   

 (B) fdruh ek=kk esa oLrqvksa dk mRiknu fd;k tk, \ 

 (C) oLrqvksa dk mRiknu dSls fd;k tk, \              

(D) iSlk dSls cpk;k tk, \ 

 Which of these is not central problem of economy ? 

 (A) Which goods must be produced ? 

 (B) In what quantity goods should be produced ? 

 (C) How should the goods be produced ? 

 (D) How to save money ? 
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54- mRiknu laHkkouk oØ D;k n'kkZrk gS \ 

 (A) mRiknu laHkkouk lsV dks  (B) ns'k ds lalk/ku dh ek=k dks  

 (C) volj ykxr dks   (D) buesa lHkh 

 What does production possibility curve show ? 

 (A) Production possibility set   

 (B) The amount of resources of the country 

 (C) Opportunity cost    

 (D) All of these 

55- buesa dkSu O;f"V vFkZ'kkL= dk fo"k; oLrq gS \ 

 (A) dqy fuxZr    (B) dqy jkstxkj 

 (C) iw.kZ izfr;ksfxrk cktkj   (D) vFkZO;oLFkk esa ewY; Lrj 

 Which of the following is subject matter of microeconomics ? 

 (A) Total Output    (B) Aggregat employment 

 (C) Perfectly competitve market (D) Price level in economy 

56- buesa dkSu fefJr vFkZO;oLFkk ds xq.k gS \ 

 (A) vkfFkZd fu;kstu     

 (B) ewY; ra= 

 (C) futh {ks=d ,oa ljdkjh {ks=d dk lgvfLrRo    

 (D) buesa lHkh  

 Which of the following is characteristic of mixed economy ? 

 (A) Economic planning    
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 (B) Price Mechanism 

 (C) Coexistence of public and private sector   

 (D) All of these 

57- ^cqfu;knh LokLFk lsok,¡ lHkh yksxksa dks fu%'kqYd miyC/k djkbZ tk,¡A* ;g vFkZO;oLFkk dh 

 dkSu lh dsUnzh; leL;k gS \ 

 (A) fdu oLrqvksa dk mRiknu fd;k tk, \ 

 (B) bu oLrqvksa dk mRiknu dSls fd;k tk, \ 

 (C) bu oLrqvksa dk mRiknu fdlds fy, fd;k tk, \ 

 (D) buesa dksbZ ugha 

 'Basic health services should be made available free of charge to 

 everyone'. This statement is related to which central problem of the 

 economy ? 

 (A) What to produce ?   

(B) How to produce these goods ? 

 (C) For whom these goods should be produced ? 

 (D) None of these 

58- fefJr vFkZO;oLFkk ds vkfFkZd fØ;kdykiksa ds fn'kk dk fu/kkZj.k dkSu djrk gS \ 

 (A) miHkksDrk     (B) ljdkj 

 (C) m|eh     (D) buesa lHkh 

 Who determines the direction of economic activities in a mixed 

 economy? 
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 (A) Consumer    (B) Government 

 (C) Enterpreneurs   (D) All of these  

59- fiNys nks n'kdksa esa Hkkjrh; vFkZO;oLFkk esa ljdkj dh Hkwfedk & 

 (A) de gqbZ gS    (B) c<+h gS 

 (C) fLFkj gS      (D) le;&le; ij ifjofrZr gqbZ gS 

 In the last two decades the role of the government in the economy has - 

 (A) Decreased     (B) Increased 

 (C) Remained constant  (D) Changed from time to time 

60- vFkZ'kkL= esa O;fDrvksa ds O;ogkj dk v/;;u fdl 'kk[kk }kjk fd;k tkrk gS \ 

 (A) O;f"V vFkZ'kkL=    (B) lef"V vFkZ'kkL= 

 (C) yksd foŸk    (D) buesa dksbZ ugha 

 The behaviour of individuals is studied by which branch of 

 economics ?  

 (A) Microeconomics   (B) Macroeconomics 

 (C) Public Finance   (D) None of these 

61- buesa dkSu ctV lsV dh lgh ifjHkk"kk gS \ 

 (A) p1x1+p 2x2 ≤ M   (B) p1x1+p2 x2 = M 

 (C) p1x1+p2x2 ≥ M   (D) buesa dksbZ ugha 

 Which of these is correct difinition of budget set ? 

 (A) p1x1+p 2x2 ≤ M   (B) p1x1+p2 x2 = M 

 (C) p1x1+p2x2 ≥ M   (D) None of these 
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62- ctV js[kk x2= ெ   ௣ଶ - ௣ଵ௣ଶ x1 esa 
ெ௣ଶ D;k gS \ 

 (A) X - izfrPNsn    (B) Y - izfrPNsn 

 (C) miHkksDrk vk;    (D) buesa dksbZ ugha 

 In budget line x2= ெ   ௣ଶ - ௣ଵ௣ଶ x1, what is 
ெ௣ଶ  ?  

 (A) X - intercept    (B) Y - intercept 

 (C) Consumer income   (D) None of these 

63- ;fn dsoy oLrq x1 ds ewY; esa ifjorZu gksrk gS] rks ctV js[kk dks D;k gksxk \ 

 (A) ctV js[kk Y - v{k ij fLFkj jgsxh  

 (B) ctV js[kk ewY; ?kVus ij ck;sa tk;sxh 

 (C) ctV js[kk ewY; c<+us ij nkfgus xeu djsxh     

 (D) buesa dksbZ ugha 

 If the price of only good x1 changes, then what happens to the budget 

 line? 

 (A) The budget line will remain constant on Y-axis 

 (B) Due to decline in price budget line will move to left 

 (C) Due to increase in price budget line will move to right    

 (D) None of these 

64- vuf/keku oØ v{k&ewy ds izfr mUurksnj gksrk gS D;ksafd lhekar izfrLFkkiuk nj gS \ 

 (A) fLFkj     (B) òf)eku 

 (C) gzkleku     (D) buesa dksbZ ugha 
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 The indifference curve is convex to the origin because the marginal rate 

 of substitution is ? 

 (A) Constant    (B) Increasing 

 (C) Decreasing    (D) None of these 

65- oLrq dh dher vkSj mldh ek¡x dh xbZ ek=k dks dkSu oØ n'kkZrk gS \ 

 (A) ek¡x oØ     (B) vuf/keku oØ 

 (C) ctV js[kk    (D) buesa dksbZ ugha 

 The price of a good and its quantity demanded is shown by which curve? 

 (A) Demand curve   (B) Indifference Curve 

 (C) Budget Line    (D) None of these 

66- ,d jSf[kd ek¡x oØ gS d(p) = a - bp tgk¡ d = ek¡x dh ek=k vkSj p = ewY; gSA fdl 

 dher ij ek¡x 'kwU; gksxk \ 

 (A) 'kwU;     (B) 𝑎 𝑏ൗ  

 (C) 𝑏 𝑎ൗ      (D) a 

 In a straight line demand curve d(p) = a - bp, where d= quantity 

 demanded and p = price, at what price demand would be zero ? 

 (A) Zero     (B) 𝑎 𝑏ൗ  

 (C) 𝑏 𝑎ൗ      (D) a 

67- pk; dh dher ?kVus ls dkWQh dk ek¡x oØ fdl vksj f'k¶V gksxk \ 

 (A) nk;ha vksj     (B) ck;ha vksj 
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 (C) dHkh nk;ha vksj iqu% ck;ha vksj  (D) oØ fLFkj jgsxk 

 As a result of decline in price of tea, the demand curve will shift in which 

direction ? 

 (A) Rightward     

 (B) Leftward 

 (C) Sometime rightward again leftward     

 (D) The curve will remain constant 

68- yEcor ek¡x oØ ds ewY; ek¡x dh yksp D;k gksxh \ 

 (A) 'kwU;     (B) vlhe 

 (C) 0<ep<1     (D) buesa dksbZ ugha 

 For a vertical demand curve, what would be the price clasticity of 

 demand ? 

 (A) Zero     (B) Infinity 

 (C) 0< ep<1     (D) None of these 

69- ,d vk;rkdkj vfrijoy; ek¡x oØ p . q = e ds gj fcUnq ij ek¡x dh yksp dk eku 

 D;k gksxk\ 

 (A) e =1     (B) e > 1 

 (C) 0≤e≤1     (D) buesa dksbZ ugha 

 For rectangular hyperbola demand curve p.q=e, what is the value of 

 elasticity of demand? 

 (A) e =1     (B) e > 1 
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 (C) 0≤e≤1     (D) None of these 

70- miHkksDrk vk; esa o`f) ls fdl rjg ds oLrqvksa ds ek¡x esa fxjkoV gksrh gS \ 

 (A) lkekU; oLrq    (B) foykflrk oLrq 

 (C) fuEuLrjh; oLrq    (D) buesa lHkh 

 Due to increase in consumer income, the demand for which type of 

 goods declines ? 

 (A) Normal as goods    (B) Luxury goods 

 (C) Inferior goods   (D) All of these 

71- buesa dkSu ifjorhZ vkxr ugha gS \ 

 (A) Je     (B) e'khu 

 (C) dPpk eky    (D) fctyh 

 Which of these is not variable input ? 

 (A) Labour     (B) Machine 

 (C) Raw Material    (D) Electricity 

72- vYidky esa fdl vkxr esa ifjorZu fd;k tk ldrk gS \ 

 (A) ifjorhZ vkxr    (B) fLFkj vkxr 

 (C) e'khu     (D) (B) ,o (C) nksuksa 

 In which inputs changes can be made in the short run ? 

 (A) Variable inputs   (B) Fixed inputs 

 (C) Machines    (D) both (B) and (C) 

73- ;fn vkxr dh ek=k 100 gS vkSj fuxZr dh ek=k 10000] rks vkSlr mRikn D;k gksxk \ 
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 (A) 100     (B) 10000 

 (C) 1000     (D) buesa dksbZ ugha 

 If the quantity of input is 100 and the quantity produced is 10000 then 

 what would be the average product ? 

 (A) 100     (B) 10000 

 (C) 1000     (D) None of these 

74- ;fn dkjd 1 dh x1 bdkb;ka fuxZr dh 40 bdkb;ka mRiknu djrh gS vkSj x1 - 1 

bdkb;ka fuxZr dh 30 bdkb;ka mRiknu djrh gSa rks x1oha bdkbZ dk lhekar mRiknu 

D;k gksxk \ 

 (A) 40 bdkbZ     (B) 30 bdkbZ 

 (C) 10 bdkbZ     (D) 70 bdkbZ 

 If  x1 units of factor 1 produces 40 units of output and x1 - 1 units of inputs 

produces 30 units of output, then what is the marginal product of the x1
th 

of unit of factor input ? 

 (A) 40 units     (B) 30 units 

 (C) 10 units    (D) 70 units 

75- vkSlr fLFkj ykxr oØ dk D;k vkdkj gksrk gS \ 

 (A) vk;rkdkj vfrijoy;   (B) 'U' vkdkj 

 (C) 'L' vkdkj    (D) buesa dksbZ ugha 

 What is the shape of average fixed cost curve ? 

 (A) Rectangular Hyperbola  (B) 'U' shaped 
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 (C) 'L' Shaped    (D) None of these 

76- ifjorhZ vuqikr ds fu;e esa D;k gksrk gS \ 

 (A) lhekar vkSj vkSlr mRikn 'kq: ls ?kVrs gSa 

 (B) lhekar vkSj vkSlr mRikn ,d lhek rd c<+rs gS fQj ?kVrs gSa 

 (C) lhekar vkSj vkSlr mRikn ,d lhek rd ?kVrs gSa fQj c<+rs gSa    

 (D) buesa dksbZ ugha 

 What happens in the law of variable proportions ? 

 (A) Marginal and average output declines from the begining   

 (B) Marginal and average product rises upto a limit then decline 

 (C) Marginal and average product decline upto a limit and rise thereafter 

 (D) None of these 

77- iSekus dk izfrQy esa fdlesa ,d lkFk vuqikfrd ifjorZu fd;k tkrk gS \ 

 (A) lHkh lalk/kuksa esa    (B) ifjorhZ lalk/kuksa esa 

 (C) fLFkj lalk/kuksa esa   (D) buesa dksbZ ugha 

 What is changed in equal proportion at the same time in returns to scale? 

 (A) All resources    (B) Variable inputs 

 (C) fixed inputs    (D) None of these 

78- dqy fLFkj ykxr oØ x- v{k ds lkisf{kd D;k gksrk gS \ 

 (A) lekukarj      (B) yacor 

 (C) ikl tkus okyk    (D) buesa dksbZ ugha 

 What is total fixed cost curve relative to x - axis ? 
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 (A) Parallel     (B) Vertical  

 (C) approaching    (D) None of these 

79- vkSlr fLFkj ykxr oØ dh <ky D;k gksrh gS \ 

 (A) /kukRed     (B) 'kwU; 

 (C) _.kkRed     (D) buesa dksbZ ugha 

 What is the slope of average fixed cost curve ? 

(A) Positive     (B) Zero 

(C)Negative    (D)None of these 

80- iw.kZ izfrLi/khZ QeZ dh dher js[kk dh m/oZLrjh; Å¡pkbZ fdlds cjkcj gksxh \ 

 (A) ewY; p ds cjkcj   (B) fuxZr q ds cjkcj 

 (C) ykHk π ds cjkcj   (D) buesa dksbZ ugha 

 What is vertical height of price line of perfectly competitive firm equal to ? 

 (A) equal to price p   (B) equal to output q 

 (C) equal to profit π   (D) None of these 

81- iw.kZ izfrLi/khZ QeZ ds fy, lhekar vkxe = vkSlr vkxe = ?  

 (A) ykHk     (B) dher 

 (C) dqy ykxr    (D) buesa dksbZ ugha 

For a perfectly competitive firm Marginal Revenue = Average 

Revenue=gap? 

 (A) Profit     (B) Price 

 (C) Total Cost    (D) None of these 
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82- fdlh izfrLi/khZ QeZ ds izfr bdkbZ ykHk dh x.kuk fdl pj ls dh tkrh gS \ tgk¡ AR - 

 lhekar vkxe] AC - vkSlr ykxr] MC- lhekar ykxr ,oa MR - lhekar vkxe gSA 

 (A) larqyu ij AR - AC ls   (B) larqyu ij AC - AR ls  

 (C) larqyu ij MR - MC ls   (D) buesa dksbZ ugha 

 Using which variables is the per unit profit of a competitive firm 

 calculated? where AR is average revenue, AC is average cost, MC is 

 marginal cost and MR is marginal revenue. 

 (A) At equilibrium point by AR-AC  

 (B) At equilibrium point by AC-AR 

 (C) At equilibrium point by MR-MC  

 (D) None of these 

83- buesa dkSu vYidky esa mRiknu canh fcanq gS \ 

 (A) vkSlr ykxr oØ dh U;wure fcanq    

 (B) vkSlr ifjorhZ ykxr dh U;wure fcanq 

 (C) lhekar ykxr oØ dh U;wure fcanq   

  (D) buesa dksbZ ugha 

 Which of these is shut down point in short run period ? 

 (A) Minimum point of average cost curve  

  (B) Minimum point of average varibale cost curve 

 (C) Minimum point of marginal cost curve    

 (D) None of these 



33 
 

84- lkekU; ykHk dh fLFkfr esa QeZ dks fdruk ykHk gksxk \ 

 (A) 'kwU; vkfFkZd ykHk   (B) ykHk&vykHk dh fLFkfr 

 (C) R;kxs x, izfrQy ds cjkcj  (D) buesa lHkh 

 In state of normal profit, how much profit will a firm earn ? 

 (A) Zero economic profit  (B) State of breakeven 

 (C) Equivalent to returns foregone (D) All of these 

85- fdlh izfrLi/khZ QeZ dks vYi dky esa gkfu gks jgh gSA ;g dc laHko gS \ 

 (A) tc AR>AC    (B) tc AR>MC 

 (C) tc AR>AVC    (D) tc AR<AC 

 A competitive firm is experiencing loss in short run. When is this 

 possible? 

 (A) When AR>AC   (B) When AR>MC 

 (C) When AR>AVC   (D) When AR<AC 

86- fdlh QeZ dk vYidkyhu iwfrZ oØ D;k gksrk gS \ 

 (A) vkSlr ifjorhZ ykxr oØ ds U;wure fcUnq ls mij lhekar ykxr oØ 

 (B) lhekar ykxr oØ 

 (C) vkSlr ykxr oØ 

 (D) buesa dksbZ ugha 

 What is a firm's short run supply curve ? 

 (A) Marginal cost curve above the minimum point of average variable 

 cost curve 
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 (B) Marginal cost curve 

 (C) Average cost curve 

 (D) None of these 

87- ;fn vkSlr ykxr oØ larqyu dh fcUnq ij vkSlr vkxe oØ ds uhps gks rks QeZ dks 

 D;k gksxk \ 

 (A) lkekU; ykHk    (B) vf/klkekU; ykHk 

 (C) ?kkVk     (D) buesa dksbZ ugha 

 If the average cost curve lies below the average revenue curve then what 

 will the firm earn ? 

 (A) Normal profit    (B) More than normal profit 

 (C) Loss     (D) None of these 

88- iwfrZ dh ek=k esa izfr'kr ifjorZu ÷ ewY; esa izfr'kr ifjorZu = ? 

 (A) ek¡x dh dher yksp   (B) iwfrZ dh dher yksp 

 (C) iwfrZ oØ dh laosnu'khyrk dk eki (D) (B) ,oa (C) nksuksa 

 Percentage change in quantity supplied ÷ Percentage change in price = ? 

 (A) Price elasticity of demand  

 (B) Price elasticity of supply 

 (C) Measure of responsiveness of supply curve 

  (D) Both (B) and (C) 

89- vlerk p1x1 + p2x2 ≤ M dks D;k dgk tkrk gS \ 

 (A) ctV  js[kk    (B) ewY; js[kk 
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 (C) ctV lsV     (D) buesa dksbZ ugha 

 What is the inequality p1x1 + p2x2 ≤ M called ? 

 (A) Budget line    (B) Price line 

 (C) Budget set    (D) None of these  

90- ctV js[kk dh izo.krk ¼<ky½ fdlls ifjHkkf"kr gksrh gS \ 

 (A) -p1/p2     (B) -p2/p1 

 (C) +p1/p2     (D) buesa dksbZ ugha 

 The slope of the budget line defined by which of these ? 

 (A) -p1/p2     (B) -p2/p1 

 (C) +p1/p2     (D) None the above 

91- ,d ,dkf/kdkjh QeZ ds fy, oLrq dh dher fdl ij fuHkZj djrh gS \ 

 (A) oLrq dh csph xbZ ek=k ij  (B) og dher LohdkjdŸkkZ gS 

 (C) foKkiu ij    (D) buesa dksbZ ugha 

 On what does the price of a good depend for a monpoly firm ? 

 (A) The quantity of good sold  (B) He is a price taker 

 (C) Advertisement   (D) None of these 

92- cktkj larqyu esa fdu nks pjksa dk fu/kkZj.k gksrk gS \ 

 (A) ewY;] ek=k    (B) ewY;] ykxr 

 (C) ewY;] ykHk    (D) buesa dksbZ ugha 

 Which two variables are determined in market equilibrium ? 

 (A) Price, quantity   (B) Price, cost 
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 (C) Price, profit    (D) None of these 

93- ^vn`'; gkFk* dk cktkj esa D;k Hkwfedk gS \ 

 (A) vn`'; gkFk dher esa ifjorZu dj nsrk gS  

  (B) larqyu LFkkfir djrk gS 

 (C) vf/kiwfrZ dh fLFkfr esa dherksa esa deh djrk gS 

  (D) buesa lHkh 

 What is the role of 'Invisible hand' in the market ? 

 (A) Invisible hand brings about change in price 

  (B) Establishes equilibrium 

 (C) In a state of excess supply if reduces the price 

  (D) All of these 

94- larqyu ewY; (pe) ls de ewY; ij D;k gksxk \ 

 (A) vf/kek¡x     (B) vf/kiwfrZ 

 (C) dksbZ ifjorZu ugha   (D) buesa dksbZ ugha 

 What will happen at a price below equilibrium price (pe) ? 

 (A) Excess demand   (B) Excess supply 

 (C) No change takes place  (D) None of these 

95- ;fn ek¡x oØ fLFkj gks vkSj iwfŸkZ oØ nkfgus f'k¶V djrk gS rks oLrq ds ewY; esa D;k 

 ifjorZu gksxk \ 

 (A) ewY; fLFkj jgsxk    (B) ewY; o`f) gksxh 

 (C) ewY; ?kVsxk    (D) buesa dksbZ ugha 
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 If the demand curve is unchanged and the supply curve shifts rightward 

 then what will happen to the price of good ? 

 (A) Price would ramain constant  (B) Price will rise 

 (C)  Price will decline    (D) None of these 

96- ;fn izfrLi/khZ QeksZa dh dhers U;wure vkSlr ykxr ds cjkcj gks rks D;k gksxk \ 

 (A) QeksZa dk cfgxZeu    (B) QeksZa dk izos'k 

 (C) u QeksZa dk izos'k vkSj u QeksZa dk cfgxZeu (D) buesa dksbZ ugha 

 What will happen if the price of competitive firm is equal to minimum 

 average cost ? 

 (A) Exit of firms     (B) Entry of firms 

 (C) Neither entry nor exit of firms  (D) None of these 

97- dktkcktkjh dh leL;k dc mRiUu gksxh gS] ;fn pe = larqyu ewY; gS vkSj p1= dksbZ 

 mPpre fu/kkZfjr dher gS \ 

 (A) pe > p1     (B) pe = p1 

 (C) pe < p1      (D) buesa dksbZ ugha 

 When will the problem of black marketing arise if pe is the equilibrium 

 market price and p1 is some ceiling price ? 

 (A) pe > p1     (B) pe = p1 

 (C) pe < p1     (D) None of these 

98- ,dkf/kdkjh dk vkSlr laizkfIr oØ mldk D;k dgykrk gS \ 

 (A) iwfŸkZ oØ     (B) ek¡x oØ 
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 (C) ykHk js[kk     (D) buesa dksbZ ugha 

 What is average revenue curve of a monopolist called ? 

 (A) Supply curve    (B) Demand curve 

 (C) Profit line    (D) None of these 

99- ,dkf/kdkjh QeZ dk ògr ek=k esa cspus dk fu.kZ; fdl dher ij laHko gS \ 

 (A) mPp dher ij    (B) de dher ij  

 (C) fdlh Hkh dher ij   (D) buesa dksbZ ugha 

 The decision of Monopoly firm to sell a large amount is possible at what 

 price ? 

 (A) High price    (B) Low price 

 (C) At any price    (D) None of these 

100- tc lhekar laizkfIr 'kwU; gksrh gS rks dqy laizkfIr D;k gksrh gS \ 

 (A) U;wure     (B) lokZf/kd   

(C) 'kwU;      (D) buesa dksbZ ugha 

 When marginal revenue is zero then what is total revenue ? 

 (A) Minimum     (B) Maximum 

(C) Zero     (D) None of these 

 Section-B

Short Answer Type Questions½

iz'u la[;k 1 ls 30 y?kq mÙkjh; iz'u gSaA fdUgha 15 iz'uksa ds mÙkj nsaA izR;sd iz'u ds fy, 2 

vad fu/kkZfjr gaSA izR;sd mÙkj 40&50 'kCnksa esa fy[ksaA    (15x2=30) 
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Question no. 1 to 30 are Short Answer Type Questions. Answer any 15 

questions. Each question carries 2 marks. Write your answer in 40 – 50 words 

each :           (15x2=30) 

1- mnkgj.k lfgr lsok dks ifjHkkf"kr djsaA       2 

Define Services with example. 

2- vFkZO;oLFkk dh nks dsUnzh; leL;k fy[ksaA       2 

Write two central problems of economy. 

3- mRiknu laHkkouk oØ fpf=r djsaA        2 

 Draw production possibility curve. 

4- ,d ctV js[kk dh <ky D;k n'kkZrh gS \       2 

 What does the slope of a budget line show ? 

5- x-v{k ij n'kkZ;h xbZ oLrq dh dher esa deh ls ctV js[kk dks D;k gksrk gS \ 2 

 What happens to the budget line when the price of the good shown on  

 x-axis declines ? 

6- lhekar izfrLFkkiuk nj dks ifjHkkf"kr djsaA       2 

 Define marginal rate of substitution. 

7- ek¡x dk fu;e mnkgj.k lfgr fu:fir djsaA      2 

 Outline the law of demand with suitable example. 

8- fdl oLrq ds dher ek¡x dh yksp 'kwU; gksxh \ mnkgj.k nsaA    2 

 For which goods the price elasticity of demand is zero. Give example. 

9- mi;qDr mnkgj.k }kjk ifjorhZ vkxr dh vo/kkj.kk dks la{ksi esa le>k;saA  2 
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 In brief explain the concept of variable cost with suitable examples. 

10- vkSlr mRikn dh x.kuk dk lw= fy[ksaA       2 

 Write the formula for calculating average output. 

11- vYidkyhu dqy ykxr D;k gS \ blds dkSu ls ?kVd gS \    2 

 What is short run total cost? what are its components? 

12- dqy laizkfIr D;k gS \ bldh x.kuk dSls djrs gSa \     2 

 What is total revenue? How is it measured? 

13- lkekU; ykHk dks ifjHkkf"kr djsaA        2 

 Define normal profit.  

14- vf/kiwfrZ dh fLFkfr dks fp= }kjk n'kkZ;saA       2 

 Show the state of excess supply using diagram. 

15- lhekar laizkfIr vkSj dqy laizkfIr ds chp D;k laca/k gS \     2 

 What is the relationship between marginal revenue and total revenue? 

16- mRiknu ds lalk/kuksa esa ls fdUgha nks dh ifjHkk"kk fy[ksaA     2 

 Of the factors of production, write definition of any two.  

17- izokg pj@ifjorZ D;k gksrs gSa\        2 

 What are flow variables. 

18- iw¡thxr oLrqvksa dk pkj mnkgj.k nsaA       2 

 Give four examples of capital goods. 

19- e/;orhZ oLrq ls vki D;k le>rs gSa \       2 
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What do you understand by intermediate goods ? 

20- ewY;of/kZr dSls ekik tkrk gS \ mnkgj.k ds }kjk Li"V djsaA    2 

 How is value added measured? Clarify with example. 

21- oLrq fofue; iz.kkyh dh nks dfe;ksa dks fy[ksaA      2 

 Write two shortcomings of barter system. 

22- eqnzk ds nks dk;ksZa dk la{ksi esa o.kZu djsaA       2 

 In short describe two functions of money. 

23- eqnzk dh iwfrZ dh ljyre ifjHkk"kk fy[ksaA       2 

 Write simplest definition of money supply. 

24- fdlh O;fDr ds lk[k ls vki D;k le>rs gSa\ ;g fdlij fuHkZj djrh gS \  2 

 What do you understand by credit of a person? On what factors does it 

 depend? 

25- Hkkjrh; fjtoZ cSad dks vafre _.knkrk D;ksa dgk tkrk gS\    2 

 Why is Reserve Bank of India called the lender of last resort ? 

26- miHkksx Qyu dks ifjHkkf"kr djsaA        2 

 Define Consumption function.  

27- Lok;Ÿk O;; xq.kd D;k gS \         2 

 What is autonomous expenditure multiplier ? 

28- lkoZtfud oLrq ds nks ykHk fy[ksaA        2 

 Write two benefits of public goods. 
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29- ljdkjh ?kkVs esa fdl izdkj dVkSrh dh tk ldrh gS \     2 

 How can the government deficits be reduced ? 

30- O;kikj ?kkVk D;k gS \         2 

 What is trade deficit ? 

Long Answer Type Questions

iz'u la[;k 31 ls 38 nh?kZ mÙkjh; iz'u gSaA fdUgha 4 iz'uksa ds mÙkj nsaA izR;sd ds fy, 5 vad 

fu/kkZfjr gSaA izR;sd mÙkj 100&120 'kCnksa esa nsaA     (4x5=20) 

Question no. 31 to 38 are Long Answer Type Questions. Answer any 4 

questions. Each question carries 5 marks. Answer in 100-120 words each.    

(4x5=20) 

31- vFkZO;oLFkk dh dsUnzh; leL;kvksa dh foospuk dhft,A     5 

Discuss the central problems of an economy ? 

32- ;fn miHkksDrk dh vk; vkSj oLrqvksa dh dher nksxquh gks tk, rks u;k ctV lsV dSlk 

 gksxk \ fp= }kjk le>kk;saA         5 

 If consumer's income and the price of goods double then what would the 

 new budget set look like? Explain with diagram. 

33-  dqy ykxr] lhekar ykxr ,oa vkSlr ykxr dh O;k[;k dhft,A   5 

Explain total cost, margingal cost and average cost. 

34- mPpre fu/kkZfjr dher dh O;k[;k mi;qZDr mnkgj.k }kjk dhft,A   5 

 Explain ceiling price with the help of suitable example. 

35- O;kolkf;d cSad ds dk;ksZa dk o.kZu djsaA       5 
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Describe the functions of commercial bank. 

36- D;k lkoZtfud _.k cks> cu x;k gS\ O;k[;k dhft,A     5 

Has public debt become a burden ? Explain. 

37- uE; fofue; nj O;oLFkk esa fofue; nj dk fu/kkZj.k dSls gksrk gS \   5 

 In flexible exchange rate system, how is the exchange rate determined?  

38- ,d }h {ks=d vFkZO;oLFkk esa vk; dk fu/kkZj.k dSls gksrk gS \ fp= ls n'kkZ;saA  5 

In a two sector economy, how is income determined ? Show with the 

help of diagrams. 


